Honors Math 2
Quarter 3 Replacement Review
Simplify each expression.
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Solve for x.
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Convert each degree measure into radians.
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Convert each radian measure into degrees.
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Find the reference angle.
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Find the exact value of each trigonometric function.

use unit circle
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Solve each triangle.
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Find the measure of the indicated angle.
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Find the value of the indicated trigonometric function.
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Find the area of each sector. Q=5 r2

35. N | 36.
{2 ) : :
fie (1) ( lt!/‘i_[/

Sketch the graph of the function over the interval -2n < x < 2r. g
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Determine the amplitude, period, phase shift, vertical shift, domain, and range for each.
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47. A cliff is 80 feet above the sea. From the cliff the angle of depression to a boat is 35°. How far is
the boat from the base of the cliff?
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48. The height of a building is 250 ft. What is the angle of elevation from a point on the level
ground 200 ft away from the base of the building?
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49. For a laser light show at an amusement park, the laser beam directed from the top of a 30 ft
building is to reflect from an object that is 100 ft away from a point directly below the location of
the laser. What is the angle of depression from the laser to the reflecting object?
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